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1. REBBEOHR
(1) BEIRE
@ EAXMHEERD 850 850 0
Q@ Zms#E 47,7130, 000 47, 680, 000 50, 000
Q@ H:ZRI 0 0 0
@ ZmafEsE 5,100, 000 5,100, 000 0
® Ui 1,350, 000 815, 000 535, 000
EEANAEE 54,180, 850 53, 595, 850 585, 000
(2) BREER
® E=xE 45, 885, 580 45,371, 536 514, 044
Q@ EHE 14, 063, 781 12,253, 108 1,810, 673
BEERA 59, 949, 361 57,624, 644 2,324,117
LR EIEREE A 5,768,511 A 4,028, 794 A 1,739,717
2. REIMERDOER
(1) BESRE
RESMNEE 0 0 0
(2) BENER
RENERE 0 0 0
LR ESMEREE 0 0 0
L — AR IERREA EE 1B RIER A 5,768,511 A 4,028, 794 A 1,739,717
—RIEKRMEREES 135, 090, 321 139, 119, 115 A 4,028,794
—HRIERB ERARES 129, 321, 810 135, 090, 321 A 5,768,511
I 5T IERRR EZB DR
LHATEE IE R EEIRRAR 0 0 0
HEERMENRERS 0 0 0
HEERMERARES 0 0 0
I IERBERRES 129, 321, 810 135, 090, 321 A 5,768,511




